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SECTION - A

GOl 1. @aCauTaEmB@D 30 CFTBHEHDHE ST el Uleildbsea|b
Note: Answer not exceeding 30 words each.

1.  @alleurm elamalB@d cperm LGS 6N
Each question carries three marks.

1. Osr@sauul (Heten (WUUSMSHHH alambseaied aameaGueaid (wWiLg
o EhdHE LB alenl welldbseab
Answer any thirty questions only out of thirty five questions.
(30 x 3=90)
UNIT -1
. 17 (XVII) @uriieubssid gL s (pwasdwdgieud wimg?
What was the significance of the Regulation XVII?

. ghome0 HertFd upp GBILY SHHS.
Give an account of Santhal risings.

. 183310 &pewip UL LW FULSHT (1pHHul Fapidemen GleuellslsTentTa.
Bring out the important provisions of Charter Act of 1833.

4. 553 BUEHHHT (PSHPHW FBIH6T WTeneu?
What are the important features of Suddhi movement?

. GL FH ST HTH6IT 6THILIGUTHET WITT?
Who were Khudai Khidmatgars?




6. IWiTGamenT Lmienm uBP GBILY SHHS.
Give an account of Amar Sonar Bangla.

7. SMHHWTEL aueluBISSLILLL & 2 101ph Syenewient afleul.
Discuss “the fiery ordeal” emphasised by Gandhiji.

8. Lgmesr@sbm LOMTIQ6ST 6TEOTLIGUT  UITT?
Who was Franco’s Martin?

9. @bFHWT @p &Fowl FTTUBB BTG 6B 6JaiT HMPSBLILBGHBSHI?
Why is India called a secular state?

10. ‘FHHWTAHTD’ — auenFUIN).
Define ‘Satyagraha’.

1. eba Herd “Cwrg HLAN9HMSB BTG 6IIBeNPSHBLILIL L &7 6J6s?
Which day was called as the day of “Direct Action” and why?

12. 193310 gy emigedr Geueiienens; el SBNlEme GBISSH HalT DBbleug wWmH?
What do you understand by White Paper of 1933?

UNIT - 11

13. @ 'L eagen [BFFO @GHoNld, 4 g DIBEOIPeMLUI BTl FHauymed
GWLILIL (BeTengl. BHEFFL GoNHmBF FMY o 6ilen Foufledl LFULITEOIEHI, (G61HS 600

Ui eor ;—é OL(HBH6E0 6TeN60, GHNSHH YT HTEWISH.

A circular swimming pool is surrounded by a concrete wall of 4 ft wide. It

the area of the circular wall surrounding the pool is ;—; that of the pool,

find the radius of the pool?

14. em. 200 wHyemen @b Qurmer 10% mBadLsHHev elBaiiu L gl. Guweubd 5%
allemev (GHMBEBLILILLTE, DILGUTHeT (alBsiulL) (o) alBm alleney eleiten?
An item costing Rs. 200 is being sold at 10% loss. If the price is further
reduced by 5%. What will be the selling price?

15. @ OFalaudssHHer cpemevall LD 17 0F.10 SiHer gFmmene) 46 OF.10 eleled
SISHET LITLILIGTeN6US  HT60I5%b.
The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find
the area of the rectangle.




16. p Ueiel ug@Huier oeney 15% oiHsfsdng. algsh 8% Goplmpal
6160760, DISHG LDFHILIL| %ﬂﬁﬁﬂ(ﬁ) ® GWIGHLOWITE L163T60T LDAHIIDLES  HT6uIH.

If the numerator of a fraction be increased by 15% and its denominator be

diminished by 8% the value of the fraction is % Find the original fraction.

17. yeitall alugshdHled alendsll UL GHH6T aUmnDHH6T JCHEID CLPTeNBdh FnBId.
Mention any three diagrammatic representation of statistical data.

18. oI L sueneniILBHSHIHeV6 GeuaiGauml LG e wimeneu?
What are the various parts of tabulation?

19. plabssalar aldHlsamen gnypis.
State the axioms of probability.

20. @ 651 QUBLSHH60, 53 @hTUIml SHIPEDIDSH6T QUHEUSHBHTET HBLDHH6) 616317
What is the probability that a leap year selected at random contains 53
Sunday?

21. 76 IHITHUN6T LIUIGT 6T60T60T?
What is the use of data dictionary?

22. 2 _ulihlenew Glomplaeilen euemdsemens LLIQUIEILH @alOauTamBE&D 2 SHTJenrd

B ([b6b.
List the types of high level languages and give an example for each.

UNIT III

23. yelulimiy phds wailemer UTHHGD STyenidenet GBIULIGS.
Name the factors which affect the value of acceleration due to gravity.

24. bHEOWIEL 6T6TLIGI WITSHI? DIHW 6.
What is Xerography? Explain it.

25. B(HHIHIMETH6IT 616IIMBIT6D 616316017
What are black holes?

26. HTHIHBHMN L MISHGWD BBMISHEL WBBID aBISHHD (LpenBHmen CoumLbhsHHIs.
Differentiate calcination and roasting of the concentrated ore.
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27. H3PO4, H3PO, ompid H3zPO3; eydlu umerdugeniienr  sidbend  oidlevmicbenert
SuBpler oiflevd SHeatemwulear @mmiE euflengulsd auflamaliLBHHI%.
Arrange the following oxy acids of phosphorous in decreasing order of
acidity H3;PO,4, H3PO, and H3POs3 .

28. GLDHIeN6V LDGWIL LSS0 2 _6iTen 2 _BusbHwimenTaenel LB Fpl GHBILL 6.
Write short notes on producers in an ecosystem.

29. yGym BLmlenTeHm S “o ulfler  SuiBLiuied SlglienL.” 6TG0TmI 6J6uT
SIMPSBILIGHBHI?
Protoplasm is the physical basis of life - Why?

30. “l9gn” LNenmerdLiligest LIGWTLIEHEmET 61D
Write the features of “Ti” plasmid.

31. PUFA 6T63IBIT60 616316017 By6w1(H ©_SHIMHISH6I YY) DIBH6
LWISIEFTSHHRISN6NSH FnDIs.
What is PUFA? Give two example and state the potential benefits of PUFA.

32. 2_ala) i) 60l 6oT o _GuIe)L L (5160605611601 61600160011 b 61 B 6J 601
QUMTWIBISBLILIL (HoiTeSHI?

The number of trophic levels in a food chain is limited Why?

33. BYUILIDSHSBID  610IBTE0 616!  GUILINSEHHT  JCHEID PGl LIGTTL|SH6D6T
Ul 1Quel(hs.
What is alcoholism? List any three characteristics of alcoholism.

34. HTTP eretimev  etesient?
What is HTTP?

35. ‘@bBlemev QEHTLM’ eTaiTmTeL 6T6vT6nT?
what is meant by “Ecological Succession?

Uifley — &
SECTION -B

(BmbaTE el weflb@d alanm alamns)
(Brief Answer Type)
GBIUL: 1. gelGeurm alemalB@ld 120 CFMBHEHdHE WMo el Wwelbasalb.
Note: Answer not exceeding 120 words.
1. @6uGleuT(m elemalB@&D 6B LHICILIETISH6IT

4




Each question carries eight marks.
1. OsmhHssiul(BeTen LUHOIL G alamsseaied sTameaGuamid Lglemearbal
alemeb&HEHHE L (B el weldsea)b
Answer any fifteen questions only out of eighteen questions.
(15 x 8 =120)
UNIT I

36. aumisll Ufleweuls uBpsl OFHTE@GSHSHI 61(1LDSHIS.
Give an account of the “Partition of Bangal”

37. @bHWUTaLel  oeuemilsds 2 me| gBUBGHD DRIBdH HPSSHHHW  HLDOILIET
GLoBOIBTeNIL.  OLIIDLI &6V [BLAUIQYHENSHHEIT WTeneu?
What were the initial steps taken by the English East India Company to
establish trade contacts with India?

38. e1610.19.6T610 WSHSH HHATD LM 6T1(SHIS.
Write about S-T-S war Strategy

39. Cadlw ugFNEmaeeunHwns UTFSHWTT BBlul LURSlmer Sniisk.
Write a brief note on the contribution of Bharathiar as a Patriotic Journalist.

40. wnft “SIONDHTL 19631 eHGFT 6TIBENIDSBLILIL L TT? 6J6s?
Who was called as “Rousseau of Tamil Nadu”? Why?

41. OFaiIene OHTMT FUUWIT (WSS WSHSHIUD WTg?
What was the significance of Madras Mahajana Sabha?

UNIT II

42. 9 e»UUled @  apuUTUWI, @gewi(y  epUTWI,  HGHI  AHUTUI  [HTENTUIMIGEN
oTewienidema 5 : 7 : 12 B alFHHHeL o eilenel. HTewlLmIGSIE GCLOTSHS
I ehH. 395 eTedled, eUGEUT(H 6UMES HTERILMISE6 61600160 HeND 6161161616
6160  SHITCIIH.

A bag contains one-rupee, two-rupee, and five-rupee coins in the ratio 5: 7

: 12 amounting to Rs. 395. Find the number of coins of each type.

43. @ BBIJHHET 1DHH6T OFTend 176400. aUBLSHBGH S%h SiFsoTemmed 2
QUHLMIFH6MN60 DEHFH6T OFHTems  eeleuene]? @Fedi(h UBLSIHIBG (PSLTS
6161161616 ?

The population of a town is 176400. If it increases annually at 5%. What
will be its population 2 years hence? What was it 2 years ago?

44. ugeued OF6IAIS QUMTLLLD DIMIDGHHM6L a6 EHb.
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Explain the construction of histogram.

45. @gewi®  FLBBeT 52  FLBH6T o 6en UL FLB Bl  BHHS
FOTUILILGTET  (LpewBWTS 2 (heulll (heitenigl  eleflent SO o siTemeuBens
QUDIISBBTET HBPSHHE| HewdHB. (o) @b ewLwweni® (diamond) wBBID
apmi (heart) (&) @ 13T @@ Wl () yWih SITEITSHS6?

Two cards are drawn from a pack of 52 cards at random. What is the
probability that it will be a (a) diamond and a heart (b) king and a queen (c)
two kings?

46. MICR, OCR wpgib OMR @nisa e11psis.
Write about MICR, OCR and OMR.

UNIT III

47. aptiuflorent  LigomiseT UBB allend@s.
Explain Holograms.

48. @MUY 6ueDT .
(&) Qv QueiFled
(1) Slymiiesr
(®) mIewILIQES SHMITLIGH
(%) LevsumFeirepeit
Write a note on:
a. Lead pencil
(b) Graphene
(c) Microcrystalline carbon
(d) Fullerene

49. aflendaoTen GBILLS6T 6T(HIS.
(&) WIYsTIHe Levalemnd o ulflgel
(o)) Bembamihs Leveuend 2 ulfleel

Write descriptive notes on:
(a) Genetic diversity
(b) Species diversity

50. aflevki@ GFevellenr OFeLFL e SienIDLILeneT 66T @ .
Explain the cytoskeletal organization of an animal cell.

51. @pbgHwmaladeien  CUTmLILPSHS @I  (LpenBHeTET  FTHeneideneT Galeld

Ol TeuTTE.
Highlight the achievements of drug deaddiction programmes
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52. “Quiss @mIE " el GFweoLTBamen alensalons alaufldbsallb.
Explain the functions of an operating system.

53. Gumumed allageumu] gBUBSHW SHWT allenere e WiTene?
What were the tragic effects of the Bhopal Gas Tragedy?

Uifley — 9
SECTION - C

(B(mHaTS el welld@d alanm aland)
(Detailed Answer Type)
GOBIUL: 1. @elGeut(h alemalB@ld 250 CFTB&HEHeHE WML aleml Wwelbaalb.
Note: Answer not exceeding 250 words.
1. @alQeur(h alemalB@G LUSHmabdl O ICLITTSHENT
Each question carries fifteen marks.
CaThHHHLILL (BeiTen Q6illg aleimoddeled elenaCuiamid Ly

ADMTHHEHEHE GMBHSULFID 6 alamenel 6lbeuTm u@GHulel([mbal
CaHTHOsbBHHI allewL Weidbsa|d

Answer any six questions out of nine questions attending atleast
One question from each Unit.

(6 x 15 = 90)
UNIT I

54. paier @ha mIoevTFd LB alfleuns alendbsalb.
Explain in detail the modern Hindu Renaissance.

55. LomplevmIEeT @IFTemoLIL Gupenaull LUB® GMILY 61(WSHIS.
Write a note on the states Reorganisation commission.

56. “U.auT IbCuGHBT6T eUTIDEHMS LOBBID FTHMDH6T LB @H  elemdHLoTet
SL(Hen] 61(LDSHIb.

Write a detailed essay about the “life and achievements of B.R.
Ambedhar”.

UNIT II

57.8 SewidsEbhD 6 FBleuTHEndD 2 BHTLS6M60 ¢@H SHlewim Geul L (pQujd LoBmID

6 SMIGBEHD 2 JFpeuTeeErd 3 BIL&6N0  Siewd OFuiweomd eleled 5

oeWIsEHD 3 FApleuiaepd Csba SibH Coumevenu! (PYHdH 615HHENT [HITL &H6iT
GxpemeuliLi(pLd?
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58.

59.

60.

62.

If 8 men and 6 boys can dig a well in 2 days and 6 men and 2 boys can do
it in 3 days how long will 5 men and 3 boys take to do it?

30 omemiTeuderen oFHIGLeTH6T SG Cdmhabalil (hetener. 41, 55, 48, 47, 53,
48, 33, 32,42, 55, 44, 38, 60, 65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35,
35, 26, 25

(o) 9o Werpulled erpsI
(o)) Bapeuem UL 1guIed®
(®) 10 eugly B Geouefulled GHTLTUTS UHLOTHI 61D

Marks scored by 30 students are given below 41, 55, 48, 47, 53, 48, 33, 32,
42,55, 44, 38, 60, 65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35, 35, 26, 25
(a) Arrange the marks in Ascending order

(b) Arrange the marks as frequency table

(c) Convert the marks into a continuous series of a class-interval of 10.

UNIT III

oflalwed GamPed HILU Hewpuled OFwBms HlewewiCameTseler LMIG6TIL
upPlud Bl Hlenm GmmaeT uBBlub alfleuts 61(pSHIS.

(o) SssTamilaaIBedB CaBILBSHS, 2 HTTWID H(Hb.

1. QaiughsTed Ben@GD WBBID CAIILSHHTEL BBIGD LN6TTer0IdhEHdH6i
1. GFThems LOBBID GHBIHS LIGOLIQSH6IT

iil. QuiBensulleomer LOBEBID @le0EHMETdE OFWILIILIL L FUILIT

(81) FHLIGOLIQHET 6I6NMIT60 616016017 SHlem6 6TeleaITH eUmSLILBSHBLILIBHLD?

(a) Differentiate the following with suitable example.
i. Thermoplastic and thermosetting plastic

ii. Addition and condensation polymer

iii. Vulcanised and raw rubber.

(b) What are co-polymers? How they are classified?

. LIGMIGH60TShIS6MeT 2 6T SenliepUuld SIS OFweourddenemud aleur.

Explain the structure of chloroplast and its functions.

epeL  OF6LH6IT  6TIMT60  6laiienl?  W(HHFHIN FBHbenguilled cpev  OFe0H6 60
LImisleneot  al6Teh@)db.
What are stem cells? Explain the role of stem cells in medical treatment.
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